Which subtier should we be playing?
1. Compute the total party level (TPL) by adding the level of all of the players.
2. Look in the table below corresponding to the Tier and Season for the scenario you are playing.
3. Look at the row corresponding to the number of players you have.
4. The range where your TPL falls indicates which subtier you should be playing.
Note: [4] indicates you should be playing that subtier with the 4-player adjustment.

Tier 1-7, Season 0-3

#
Players 1-2 3-4 6-7
4 4.9 10..21 22..28
5 5.12 13..27 28..35
6 6..14 15..26 27..42
7 7.17 18..31 32..49
Tier 1-5, Season 0-3 Tier 1-5, Season 4-5
# #
Players 1-2 4-5 Players  1-2[4] 1-2 4-5[4] 4-5
4 4.13 14..20 4 4.9 10..13 14..20
5 5.17 18..25 5 5.12 13..17 18..25
6 6..14 15..30 6 6..14 15..20 21..30
7 7.17 18..35 7 7.17 18..24 25..35
Tier 3-7, Season 0-3 Tier 3-7, Season 4-5
# #
Players 3-4 6-7 Players  3-4[4] 3-4 6-7[4] 6-7
4 12.21  22.28 4 12.17  18..21 22.28
5 15.27  28..35 5 15..22 23..27 28..35
6 18.26  27..42 6 18..26 27..32 33..42
7 21.31  32.49 7 21..31 32..38 39..49
Tier 5-9, Season 0-3 Tier 5-9, Season 4-5
# #
Players 5-6 8-9 Players  5-6[4] 5-6 8-9[4] 8-9
4 20.29  30..36 4 20.25  26..29 30..36
5 25.37  38..45 5 25..32 33..37 38..45
6 30..38  39.54 6 30..38 39..44 45.54
7 35.45  46..63 7 35..45 46..52 53..63
Tier 7-11, Season 0-3 Tier 7-11, Season 4-5
# #
Players 7-8 10-11 Players  7-8[4] 7-8 10-11[4] 10-11
4 28.37  38..44 4 28.33  34..37 38..44

5 35..47 48..55 5 35..42 43..47 48..55
6 42..50 51..66 6 42..50 51..56 57..66
7 49..59 60..77 7 49..59 60..66 67..77



